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Math 3 Worksheet—Finding Determinants

Name

#1-9. Evaluate the determinant of the following matrices.
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Extension Activity: Matrix Applications Name

Show all work in the space provided. Answers alone are unacceptable. 3
1. Find the area of the triangle shown at right.
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2. Throughout history, ships and planes have been disappearing without a trace in an
area known as the Bermuda Triangle. The boundary lines of the Bermuda Triangle
connect Miami, Florida, San Juan, Puerto Rico, and the island of Bermuda.

Let Miami, Florida, be represented on the map as the origin (0, 0). If Bermuda is
located 828 miles east and 657 miles north and San Juan is located 945 miles east and
248 miles south, estimate, to the nearest mile, the area of the Bermuda Triangle.
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3. Alarge region of forest has been infested with gypsy moths. 'I]he' region is roughly triangular. From the northernmost
vertex of the region, the distance to the other vertices is 28 miles east and 30 miles south (for the easternmost vertex)
and 10miles west and 25 miles south (for the westernmost vertex). Approximate the number of square miles of infested

forest. (Hint: Draw\? picture. Let the “northernmost vertex” be located at (0, 0). |
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Are the following sets of points for collinear? Prove using a matrix determinant. 2 Oyt ol 4o 2ero ’
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Use a matrix determinant to write the equation of the line passing through the points given.
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